
Archivist Quill
Part Guide

Lifter Plate

Notched L-Plate

V-Bracket

Imaging Bracket

Imaging Top Plate

Rope Anchor

Camera Plate

Side Plate



Lo
ng

 B
ea

m

Li
ft

er
 R

ai
l

Ve
rt

ic
al

 R
ai

l

Im
ag

in
g 

Be
am

Cr
ad

le
 W

in
g 

Su
pp

or
t

Bl
ac

k 
Cr

os
s 

Be
am

Ba
se

 C
en

te
r 

Be
am

Cl
ea

r 
Cr

os
s 

Be
am



M5 x 6mm Screw

M5 x 8mm Screw

M5 x 10mm Screw

M5 x 16mm Screw

M5 x 30mm Screw

M3 x 6mm Screw

M3 x 14mm Screw

T-Plate

L-Plate

Strip
Plate

Cradle Top
Left Plate

(rough side up)

Cradle Top
Right Plate

(rough side up)

Cradle Bottom
Left Plate

(rough side up)

Cradle Bottom
Right Plate

(rough side up)

Cradle Cross Beam

Cradle L-Plate

Cradle
Stop

Cradle Angle Beam



Cr
ad

le
 D

ia
go

na
l

G
la

ss
 H

ol
de

r

Im
ag

in
g 

Co
lu

m
n

Im
ag

in
g 

St
ru

t



Long Beam

Clear Cross Beam

Clear Cross Beam
Platform Assembly Guide



Ba
se

 S
id

e 
Be

am

Ba
se

 S
tr

ut

Li
ft

er
 C

ro
ss

 B
ea

m

Cr
ad

le
 S

tr
ut

Cr
ad

le
 C

ol
um

n

Pl
at

en
 S

tr
ut


	base-guide
	cradle-plate-guide
	extrusion-guide
	metal-plate-guide
	checklists.pdf
	Overall Checklist

	checklists.pdf
	Overall Checklist




